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Solve each equation, for 0° 6 <360°.

-La.;‘(.?om) ==
a) sin 0 =0.7760 b) tan 6 =— 0.9004

w'(26): 50 638"
0~

Or 0
296 /38
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Solve
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Suggestions for studying...

1. Do review

2. If you get stuck, look over class examples
3. Look over old quizzes.

4. Look over old tests.

5. Ask questions (to each other and me)

6. Extra help

Jan 15-9:23 AM
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Radicals

+ Compare and order radical expressions with numerical radicands in a given set. Z S‘
* Express an entire radical with a numerical radicand as a mixed radical. 3 l
¢ Express a mixed radical with a numerical radicand as an entire radical.

* Perform one or more operations to simplify radical expressions with numerical or variable
radicands.

» Rationalize the denominator of a rational expression with monomial or binomial
denominators.

* Describe the relationship between rationalizing a binomial denominator of a rational
expression and the product of the factors of a difference of squares expression.

. : : )2 ' Zid . T
« |dentify the values of the variable for which a given radical expression is defined.
« Solve both equality and inequality problems that involve radical expressions.

+ Solve a problem that involves radical expressions

= Determine any restrictions on values for the variable in a radical equation.

= Determine the roots of a radical equation algebraically, and explain the process used to solve
the equation.

= Verify, by substitution, that the values determined in solving a radical equation algebraically
are roots of the equation.

= Explain why some roots determined in solving a radical equation algebraically are
extraneous.

= Solve problems by modeling a situation using a radical equation

Jun 3-1:54 PM



Day 2.notebook June 04, 2019

Jun 4-1:39 PM



Day 2.notebook June 04, 2019

Jun 4-1:34 PM



Day 2.notebook June 04, 2019

Rationals

Topics:

1. ldentifying non-permissible roots

2. Simplifying rational expressions

3. Multiplying and dividing rational expressions
4. Adding and subtracting rational expressions
5. Solving rational equations

6. ldentify the error and correct

/. Word Problem

Jun 3-1:57 PM
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Unit 2: Quadratic Functions
1. a) Write a quadratic function in vertex form for the parabola shown on the graph.

v o (¢- P) tq
Y= on( \/Ji)(

LS

T 11 21 al)

¥ z 4Yg = / L

b) Suppose the parabola is reﬂecte-d about the x-axis. Write the quadratic function in vertex form of
the new parabola. \/ -V IR

©) Suppose the parabola in the graph 1z transla d 6 upigs to the left. Write the quadratic function in
vertex form of the new parabola. \f < (. 2 {46

d) Suppose the parabola in the graph 1s tmnsla d 3 units down. Write the quadratic function 1n vertex

form of the new parabola. \/ / ) X g
2. Sketch each function using transformations.

) f)=x+77-3 b)f)=-2+5 oflx)=(x-3) d) flx) = 4(x+ 2y -1

3. Without E:raphum each function, identify the location of its vertex and axis of symmetry, direction of
opening, maximum of minimum value, domain, range, and the number of x-intercepts.

a)y=3(x-5F+1 b}V:——'I:X'l'EP
= - 2
‘""*_" ((1 N . : -
4. Determine a quadratic function in vertex form that has the given characteristics.

a) its vertex at (—2, 3) and passes through the point (-1, 1)
. Determine a quadratic function in vertex form for the parabola.

@ yealop)t B U ARREE A
\/ «(vffl + 3 |

(~|+q +3

L\(‘- -l(x’rl) +3

Jun 6-11:26 AM
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6. For each graph, identify the following:
s the coordinates of the vertex
o the equation of the axis of symmetry
s the x-intercepts and y-intercept
s the direction of opening
« the maximum or minimum value
s the domam and range
a) 7k b)

Y

7. Write each quadratic function in standard form, v = + bx +¢.
a)y=(x+TP-10 b) flx) = (2x + 5)(6 - 3x) ©) A(f) =9+ 1P+ 50
- 3(14-}%\-‘” i
8.A > 1}1‘:';3’!(?{1 E}o?—fenci.ng material to enclose a rectangular field adjacent to a iver. No fencing is
required along the niver.

T — = H-: w(?,op—lw)

ET A"‘ - ‘_\}4- Loo'v

200 - 2w
a) What does w represent in the diagram? Why 1s the length equal to 200 — 2w? ﬁ - - L(&-/M)Q
b) Write a function that can be used to represent the area of the field. N
¢) Sketch the graph of the function. H_ - _L(Lu —/0N+U
d) Determine the maximum area of the field using a graphing calculator. —21'
€) Determine the dimensions of the region that give the maximum area. A- 1 (
3 U <SO) #S

9. A projectile is fired out of a cannon at 105 m/s from a 100-m cliff. The function that models the
height, /s, of the trajectory in relafion to time, 7, 1s (1) =—5# + 1057 + 100.
a) Sketch the graph of the function on a graphing calculator.
b) Determine the s-mntercept of the function. What does the A-intercept represent?
¢) Determine the f-intercept of the function. What does the t-intercept represent?
d) Determine the masimum height of the projectile and when it occurs.

10. Write each function in vertex form by completing the square. Use your answer to identify the vertex
of the function.

a)yy=x+2x—4 b)y=x—6x+13
\/‘-()('L—(.x'fq“\> + 13
v= (x6e) 4 13- 9
Y= (X-3)2+ 4
d b) \/'-’le-be—gQ
—
\I "'2()(1H0x12§'—zs - C¢C

¥ 'z<>‘+9){-§c+ So
Y= 'l(x+8‘)}~ﬁa

Jun 6-11:29 AM
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Unit 1: Cartesian Trigonometry
1. Sketch an angle in standard position with each given measure.

a) 24° b) 204°

2. State the reference angle for each angle in standard position.
a) 255° b) 355°

3. Complete the table. Determine the measure of each angle in standard position given its reference
angle and the quadrant in which the terminal arm lies.

Angle in
Reference Standard
Angle Quadrant | Position
a) 30° il
b) 45° 111
) 60° v
4. Determine the exact value of each indicated side. 0m
a
30° 30°
b
5. Sketch angles in standard position so that the terminal arm passes through each point.

a)(1,5) b) (4, -3)

6. Determine the exact values of the sine, cosine, and tangent ratios for each angle
in #7.

7. Determine the exact values of the sine, cosine, and tangent ratios for each angle.

a) ¥ h) Yk
b
r:‘“" 330° :
0 X E D_;f X
1 1

8. Without using a calculator, state whether each ratio 13 positive or negative.
a) sin 100° h) cos 200° c) tan 300° d) =in 350°

9. An angle i3 in standard position with its terminal arm in the stated quadrant. Determine the exact values
for the other two primary trigonometric ratios for each.

a]gip“3=_?3;quadram]:ll b) cosEl=§;quadrantIV

10. Solve each equation, for 0° = 6 < 360° Use a diagram involving a special right tnangle.

. -1 1
a)snb= —— bytan6= —
) s ) N3

;)

c)smnB=-1

N

T ‘\) $i1n60 _3/{_

Jun 6-11:30 AM
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Unit 5: Rational Expressions and Equations
1. Determine the non-permissible value(s) for each rational expression.

a) b) ; o) x+3

(x+4)x —3)

3

x+3

2. Simplhify each rational expression. State any non-permissible values.

5 -7 2 :
a) 3[f+ 3 _ B) (x - THx + 2) 0 (x+3)
(x+3)x-3) =3x(7 -x) Sx+3x-3)
3. Simplify. State any non-permissible values.
2 _ 2xt +5x 42
6r fr1 B) 3J1r 6 o dx1 +3x+2
10rs72* x -4 Sx°-5x-30

d)

10(2x + I)(x— 5)

25(x— Sx+1)

Jun 2-12:53 PM
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4.Simplify.
2 (ox )7 b) |:(x+l](x—6}:||:x{x+6}:|
1437 ) 32 - G+6) | 1+9

5.Write each product in simplest form.

e o2 r - - N 1 .
a) | x-2 |-.T‘—2.T—S | b_} Jy—3 | ¥ =23 |
|Ikx1 -4 |'\. x+2 |'g:|"IJ +4.:|"I_jj|'\_y1 _2.}"_15)'

6. Divide. Express each quotient in simplest form.

P F1s ™ i Y s Y
n):J_a +:I_Jq-:r h};x+1_|+:x+3_|
V3B \8aty Wx+3) 1\ 3x+3)

7. What are the non-permissible values for
3 p]
x*+8x+16  3x -3

the quotient _ =
(x—-3Wx+3) (x+4)

. Explamn your answer.

8. Sumplify each quotient.

—x -1 148x+7 4 Tx+6
a)xx+_(x1} ngx ;1::
10x+8  Sx"+4x x*—f6x—-7 x—x-—42
Jun 8-2:07 PM
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0, State the least common denominator.
Ox+y 3y 1 3 ¢ 3x

a) ——-— b) - €)— +
: x -3 x-6

10. Add or subtract. Express the answers in simplest form.

x+1 4x-3 4x° x+1 %2
a - — b —— -
) 3x 3x “Jx+i x+3 x+3
11. Simplify.
x-4 3x+1 3 2 3x x’+4 3

X+l @+Dx-0  x-1

]

12. Simplify.

x—6 x-—3

lo11x+28 ¥ —8x+7

13. Solve and check each equation.

Ex_x b b 3 _x+15_5 2 3_,}
_=2
d)x+1_ x 5) x x1+9_ 2x x+3 _x x+0
x—3 x-3 x—3 x -0 x+3 x+4  x-3 x'-x-§

14. John's family travels 300 km from their home to a family reunion. His cousin Susan and her family
take the same amount of time to travel 200 km from their home. Determine the speed of both vehicles
given that one of the vehicles travels 30 km/h faster than the other.

Jun 8-2:08 PM
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14. John's famuly travels 300 km from their home to a famuly reunion. His cousin Susan and her famuly
take the same amount of time to travel 200 km from their home. Determine the speed of both vehicles
given that one of the vehicles travels 30 km/h faster than the other.

Jun 8-2:31 PM
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  Apr 13-1:23 PM             Multiply Rational   Expressions     Chapter     6        Click here for the solution.    (     (    )    )       Answer     x  = –7, 0,  ± 3     Simplify. Use the pen tool to show your work.       Hint    1.  Factor expressions in the   numerator and denominator.   2.  State any restrictions on the   variables.   3.  Reduce to lowest terms by   dividing out any common   factors.






page26.svg

  Apr 13-1:23 PM             Divide Rational   Expressions    Simplify. Use the pen tool to show your work.     Chapter     6    Hint        Click here for the solution.       Hint    1.  Factor expressions in the   numerator and denominator.   2.  Multiply by the reciprocal.   3.  State any restrictions on the   variables.   4.  Reduce to lowest terms by   dividing out any common factors.       Answer   
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  Apr 13-1:23 PM              Add or Subtract Rational   Expressions      Click here for the solution.    Use the pen tool to write the sum or difference below each   expression.     Chapter     6          Answer   
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  Apr 13-1:23 PM             Rational Equations      Click here for the solution.     Chapter     6    Erin and Andrea set off at the same time on a 30-km walk for charity.   Erin, who has trained all year for this event, walks 1 km/h faster than   Andrea.  Erin finishes the walk 1 h ahead of Andrea. How fast was each   sister walking, and how long did it take for each sister to finish the walk?   Use the pen tool to complete your answer.    Let  x  represent Andrea's walking speed.                Distance (km)        Speed (km/h)      Time (h)      Erin             Andrea         
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